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B AAAL 54%x 7 = 35289t}

3 3528 + 7 = 5.04
® AAAL 504 x 7 = 35.28 YU}
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@ 0.428 — 0.4

@ 0.374 - 0.4

@ 0.399 — 0.4

@ 0.545 — 0.5

® 0.289 — 0.3
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D 3.6ha = 360 m? @ 46a = 46000 m?
@240a = 0.024 km? @ 300m? =0.03a

® 8km? = 8000000 a
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@ 3.6 ha = 3600 m?
@ 46 a = 4600 m?
@ 300m? = 3a

® 8km? = 80000 a
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7}, 0.37%x 2.5 1. 15.12% 0.5
Lt} 2.1x3.6 L. 5.76 x 0.125
oh 0.4x1.8 C. 23.125 x 0.04

®7h1 @7k @t @ v

~&B

7} 0.37x 2.5 = 0.925

. 2.1%x3.6 =756

th 0.4%x1.8=0.72

7. 15.12% 0.5 = 7.56

L. 5.76 X 0.125 = 0.72
. 23.125 % 0.04 = 0.925
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@ 30+40 ® 48+ 64
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18+24=3+4=0.75
D9+12=3+4=0.75
@®6+8=3+4=0.75
®10+16=5+8=0.625
@30+40=3+4=0.75
®48+-64=3+4=0.75
wrEhA Sxo] thE A2 @YY
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12. Aoy & 64a ol A= A 1184kg =

Zold|= 1ad 1184 + 64 = 18.5
Ul 1a 1634 + 86 = 19(k
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@ Zsel2°Cc d E5Uh

® £x7t1°CH =54
@)%z27}12°C ¥ 5,
® &x7t2°C H EHUh

(&9 B 712)= (18 + 22 + 28 + 23 + 19) = 5 = 22(°C)
(352 HT 712)= (16 4+ 21 + 27+ 22 + 18) + 5 = 20.8(°C)
(&2 B+ 712)- (&
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196.8 + 164 = 1.2( Hf)
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(2 4742) 2A)= 1675 - 107

20
=16.75 — 10.85 = 5.9( kg)

(A1 g7 A= 1675 - 113

=16.75 - 11.6 = 5.15(kg)
(8 “F2e] )= 16.75 — 5.9 — 5.15 = 5.7(kg)
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